199 3% Rk

2] & t--%%+u' 1 « Q. ¥
Y=t ¢ 9+ -t <2t k=ﬂ7q e e ) 9
& v &2

Y= Py 005 2 ¢ Fee
o= ~ 4P+ ke

=4 (e1)
x |~ - 0 1
%r,) 1 o - o + O -
fm |2 2 V1 / 2\

B h370 BRa i ﬂ\-‘/. (1: { «aq ?q\‘f{

Kise, X=3:19 %:9,(f) ¢ hoz

B daide -% 2t l=0 e

A= ] 1« {2

\

- 0 4
-9, / \ %
' YA
%0Y)
Ny~ 9
< & (8%

Qo (t) - 4(t) t @n4g5nb e if ta

Y [90- %l de
% ///,\\M

2
o}
/-e\

fea B3, %2 T ¥
‘ Y\f(r) dx % %%’\ \

D -sevs T

fg Moy Bon BEke & ¥

thav:

F& - A
o @b

4
9t g iy de « ¢

.9 Y*(—qcﬂzqc‘w)iq + 4

5

* 4,3 b
= ~gh t3d 1At

d» [14 7 -4* e =0 B4
% 2 ¥ e 24™ 1
= 2([it1) ¢

=2 +3  flart

( '
5t B R



